Chiffres Romains (G)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

CCLXXXII = 283 DCCLIV =
CDI = DCCCLXXXIII =
CCLXIX = CII =
CLVII = CCLIX =
CXCIV = DCLXXXIII =

DXCIX = 599 = 646

= 330 = 157

= 284 = 865

= 191 = 136

= 968 = 340
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Chiffres Romains (G) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

CCLXXXIII

CDI

CCLXIX

CLVII

CXCIV

DXCIX

CCCXXX

CCLXXXIV

CXCI

CMLXVIII

599

330

284

191

968

283

401

269

157

194

DCCLIV

DCCCLXXXIII

CII

CCLIX

DCLXXXIII

DCXLVI

CLVII

DCCCLXV

CXXXVI

CCCXL

754

883

102

259

683

646

157

865

136

340
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